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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
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1 5 Question ID : 9864494267
T F TEHNT T W HFEWT (FAAT &) TS

Status : Answered
Chosen Option : 4

EELEUH

Fo &% W § | Wl wh oo

e

1. mefr war gefr § |
23 dE wA |

Consider the given statement to be true and decide which of the given conclusion(s)
logically follow(s) from the statement.

Statement:

Some bugs are birds. All the birds are fiuits.

Conclusions:

1. All the fruits are birds.
2. Some of the bugs are fruits.

Ans w1 3R 2 A= HFET T B

Both conclusions 1 and 2 follow.
_ 1 3 2 gl siater w4 =
Neither conclusion 1 nor 2 follows.

el fshs 1 3TETOT T B
3.
Only conclusion 1 follows.

| e A 2 ST e §

Only conclusion 2 follows.

x

x

v

Q.2 Hgg a3t AT @gs (pentadecagon) & Ul $r Twar e g &7

The number of diagonals in a pentadecagon is:

Question ID : 9864492935

Status : Answered
Ans ‘, 190 Chosen Option : 2

X 245
3. 60
<430

Q.3 I F U # FEA SEAEEs A =R g
> e A LR o S Question ID : 9864493492

s T % FRor g 37

. . L T Status : Answered
Lime water turns milky when carbon dioxide is passed through it. It is due to the
formation of: Chosen Option : 2

Ans xﬁﬁ'&ﬁmﬁﬁz

Barium Carbonate
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) HToUTH SIS FIalie

Calcium Hydrogen Carbonate
s HToTH FralHe

Calcium Carbonate
* 4 SforgH HwaEs
Calecium Oxide

x

Q4 Cu0 + H, > Cu+H,0 IF THE0T T § ¥ fFme v 3arEo &
Cu0 + H, — Cu + H,0. This equation is an example of:

Ans ﬁ-‘mm
>

Question ID : 9864493349
Status : Answered
Chosen Option : 3

Decomposition
U=
> 2
Oxidation
HY= A
" Reduction
Pt
Redox

>3

W 4

Q5 Fwar 3331 ofE 11 & Te=w & af « &7 TE" 31 &1 37
If the number x3331 is divisible by 11, what is the face value of x?

Ans (1 5

Question’ID :9864492684
Status : Answered
Chosen Option : 2

V22
X34
X3

Q.6 AEgE F WATUTE g=uA 14 ¥ 3T s = 1 &) s =
feaw oA frger gem?

Atomic mass of Nitrogen is 14 and that of Hydrogen is 1.What will be the molecular mass
of Ammonia?

Question ID : 9864493428
Status : Answered
Chosen Option : 4

ans X116
X218
X215
V17

Q.7 e BT (problem figure) == & 715 T 3cc GIIAT (answer figures) & &
ol v & wiemfea @1 few ofs & &fT w6 ofy T

Question ID : 9864493862
Status : Answered
Chosen Option : 4

Problem Figure
Answer Figures
A B c D

The problem figure is embedded in one of the four answer figures. Choose the correct
figure containing the following figure.

Problem Figure

A

HSA

B € D

X2 A
X3B
viC

Q.8 l
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dfere T (taxonomy) F FEETOT Fr TF THE FATE ?

‘What is the basic unit of classification in taxonomy?

Status : Answered
Chosen Option : 3

Ans K . H
Order

AL
 Species
X3 <ur

Genus
EIECIEY

- Family

W 2

X4

Q9 farw e o 3 AR =g H FE AT S A e w2 g

Question ID : 9864494370
Status : Answered
Chosen Option : 4

Select the option that represents the number of parallelograms in the given figure.

Ans &1 3
K22
X1
V4

Q.10 2r werer oeet & & T BT v, gE T gee # g g1 g v e
mﬁtmmmﬁg@,sﬁmsdﬁﬂ&nsﬁmmmtsﬁ
F el &F F o Thd £ FH BT oo UIEY SINT @hel &F H SR
¥ e frae O @ AT o seem?

Question ID : 9864492911
Status : Answered
Chosen Option : 1

One of the two inlet pipes works twice as efficiently as the other. The two, working

alongside a drain pipe that can empty a cistern all by itself in 8 hours, can fill the empty
cistern in 8 hours. How many hours will the less efficient inlet pipe take to fill the empty

cistern by itself?

Ans  of 1.12
X226
X388
X410

Q.11 FrafeREs s 7, 737 fea (?) a7 e o s Feaita ¢ e
T Rl § YT 3BT H a8 Bl

Question ID : 9864494196
Status : Answered
Chosen Option : 4

QN,KH,?

In the following series, one letter is missing as shown by the question mark (?). Select the
missing letter from the given eptions.

Q. N,K,H,?
Ans K1-A
X2c
X3F
v E

Q.12 ﬁﬁ' & Eh_i"

123 +123 +1.23+0.123 + 0.0123 =?

Question ID : 9864492760
Status : Answered
Chosen Option : 1

Solve the following:

1234+ 123+ 1.23+0.123 + 0.0123 =7
Ans o 1.136.6653
X 2.136.7760
X 3.136.653
X 4.136.7659
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O PR 7§ ¥ @ B &1 9399 F:1)

| T [

J

1 2. 3

4

Select the odd figure out of the following series.

~|C

w f‘)

1

Ans 1
> 2
W 3.
< 4

Pl

B owp =

Question ID : 9864494306
Status : Answered
Chosen Option : 3

> 2

x

length of the train?

<
100 m

> 2
110 m

X< 3
130 m

W 4
120m

1 srenfeass apor TgaT ¢ -
Non-metallic character increases from

Ans v afzTs ¥ Foa I
Sodium to Chlorine

A # 8w T

Magnesium to Barium
| Hierdis @ Feifaas as
Oxygen to Selenium

x4_mﬁmaﬁ

Potassium to Caesium

Q.15 76 fFraiier 9o o &7 afa § Tl 9 TF & 450 HET 9 oewE #
27 ¥FE & 9 FT N B T A e &7

A train travelling at 76 km/h crosses a 450 m long platform in 27 seconds. What is the

ans 100 #ex
110 #frex
130 #frex

120 #ArT

Question ID : 9864493493
Status : Answered
Chosen Option : 3

Question ID : 9864492850
Status : Answered
Chosen Option : 4

grmr?

Q.16 4% oI WUROT = T aT T T 1250 FH UANTT 9T 6 TS F <A e

The interest on T 1250 for 6 years at the rate of 4% simple interest per annum will be:

Question ID : 9864492807
Status : Answered
Chosen Option : 2

Ans X' 1. F 375
W2 F 300
X 3. T 350
X 4 T 360
Q.17
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Rw 71w weel W R &t A Aot of 7 ved T e e & v e A @ Chosen Option : 1 ]
FiT & Fu= gTTd ¥

#Y T A’ FR FE TG

FYUA:
1. RIS ¥ § 18 3T § TE WG 15 3T ¥ Tgel |
2. fafRaa &9 § 16 39Tea & oc Wq 19 I0FT & G e |

Consider the given question and decide which of the following statements is sufficient to
answer the question.

‘When did Mr. Y purchase his car?
Statements:

1. Certainly before 18% August but not before 15% August.
2. Certainly after 16* August but not later than 19* August.

Ane wa’l#’fw13ﬂw2qﬂ‘m—r%

Both statement 1 and 2 are sufficient
> 2
3FT FUA 1 gACT ¥ F9F wFar wua 2 oAt g

Statement 1 alone is sufficient while statement 2 alone is insufficient

xs_ma‘ram;r*lq'aircr%znz

Either statement 1 or 2 is sufficient
F
el HUA 2 AT § AGTH T 1 HUA JUAT &

Statement 2 alone is sufficient while statement 1 alone is insufficient

Q.18 grer & F e AT ST ey g Tadee F 7T @ F
T F FEAR TFOT AT
Who has recently taken charge as the new CEO of Indian e-commerce giant Flipkart?

Ans K ) ﬂ;ﬂa’ W
Sunil Duggal
, IR, s
RC Bhargava
5 ehe-HUTUT %Wlﬂhﬁ
Kalyan Krishnamurthy
, T T=ar=r
AT Rajwani

Question 1D : 9864492308
Status : Not Answered
Chesen Option : ==

x

x

Q.19 =MIUT HeARE ¥ 9Ee, 9ROl & SO | IusSar gumel F H9A 9,
S we o s a9 Fe A Ei e icile

Before Champaran Satyagraha, the farmers of Champaran used to follow the i
‘panchkathiya’ system, whereby five katthas of land in a bigha had to be planted with Chosen Option : 3

Question ID : 9864492105
Status : Answered

Ans e 8
X

jute

Il
X 2
sugarcane

7> FreT
indigo
X a4

cotton

Q.20 wady 2018 #, FreT TR FeloA (e, TELAY) H FF § AR aTer AT
Taereet &1 39 IR (FEFA) F ¥ F Bgea B o g

As of February 2018, which Indian paediatrician has been appointed as the Deputy .
Director General (Programmes) in the World Health Organisation (WHO)? Chosen Option : -

Ans x ) gi.’ s‘.ﬁ_{r %.?T
Dr. Indira Hinduja

) ST, TH. 1§, 9EEdr
Dr. SI Padmavati

Question ID : 9864492225
Status : Not Answered

x
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Ka_a“f. FIRAT TT
Dr. Kamini Rao
, =T, HET AT

Dr. Soumya Swaminathan

v

Qp.html

Ans

Q.21 wal 2018 #, v U=a N IhEE & v e sfag aeigs FfEmar &

REee T F §E WO F w7 F SfFg S e g
As of February 2018, which famous Bollywood actor has been named as the brand
ambassador of ‘Resurgent Rajasthan’, a state government campaign?

X< TIE?I’ 1%?5’
Rahul Singh
HA T

2.

Irrfan Khan

IHTIH VT

v

>3
Anupam Kher

, HTHTTT T==
Amitabh Bachchan

x

Question ID : 9864492291
Status : Answered
Chosen Option : 2

Q.22 Frr BT o1 wuaAt wr wEr A 3w 37 ol F & sust @ e @ st @

THEIT T Y O & @ R

U
TR 30T aedaTs ¢l oo A g #

o
1. T A T Toomre ¥
2. vfae gfe= 71

Consider the given statements to be true and decide which of the conclusions logically
follow(s) from the statements.

Statements
Sachin is a good batsman. Batsmen are intelligent.

Conclusions
1. All intelligent people are batsman.
2. Sachin is intelligent.

>
et 1 3ilx 2 ST @1 g A w ¥
Both 1 and 2 follow.
qz_mwzmwam%l
Only conelusion 2 follows.
Faer fosehy 1@ el 3@ T 2
Only conclusion 1 follows.
K4
Far1 & a2 9w 8w

Neither 1 nor 2 follows.

< 3

Question ID 19864493643
Status: Answered

Chosen Option : 2

Q.23

Ans

TSIl &1 S8 5 SIeell 2015 1 3 o St el &1 Sl 38 553 Tl & ame gam

thet 1 SieH b Al 1 g3 a?

Aizaz was born on 5% January 2015, while Faiz was born 553 days later. On which date
was Faiz born?

" 11 S[els 2016
11% July 2016
12 S[es 2016
12 July 2016
9 Sfells 2016
9% July 2016

10 Sells 2016

10% July 2016

> 2

X< s

X a.

Question ID : 9864492713
Status : Answered
Chosen Option : 1
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Ans
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der = 5 it F Faree Mk Pew dw AT LA W A WA g T
TR ¥ A ThEar sEa F § v o

Tron which resembles Cobalt and Nickel in properties has been placed far away from these
elements. This was one of the limitations of:

o stellet & T
Dobereiner’s triads

| #EE & e Aol
Mendeleev’s periodic table

3 agfas amae wRofr

 Modemn periodic table

| THFISH I Hweew famw

Newlands’ law of octaves

x

x

v

Question ID : 9864493254
Status : Answered
Chosen Option : 1

Q.25

Ans

A & OF Fea=e e, FHE gouAe gl & 3 & awew A e e
TS & et ¥ | A Qe BT WeE W GeAsHuu & 0T e 0T g & 3W
IE T TECAFAT & FHOT T@0T R g

Consider a hypothetical planet with a mass equal to half that of Earth and radius is one-
third that of Earth. If g is the acceleration due to gravity on Earth, the acceleration due to
gravity on the planet will be:

X1.(51)g
X212)g
X3 (3)g
Wi (9/2) g

Question ID : 9864493440
Status : Not Answered
Chosen Option : --

Q.26

Ans

T w50 99 R 25 3 & o e @ ogpw 03,75 T E SR ek wEm e
HIT 31 41 5 §1 TP TR o Tk 1 HEam A1 HI1ore]

Some one rupee, 50 paisa and 25 paisa coins make up rupees 93.75 and their numbers are
in the proportion of 3 : 4 : 5. Find the number of each type of coins?

X 1. 42, 56, 70
X 2. 46,58, 75
o 3. 45,60, 75
X 4.40, 70, 75

Question ID : 9864492485
Status : Answered
Chosen Option : 3

Q.27

Ans

e TR BT U o 1 oS A e S 24 =5 ddeieT ¥
3T zwd fmuit & s @ O 14 ST &

Find the length of one side of a rhombus whose area is 24 em® and the sum of the lengths
of its diagonals is 14 cm.

X1_4ﬁﬂ?ﬂ?{
4em

W 2 5 HEHICT
S5cm

Ka_sﬁaﬁa
3¢cm

x ,, 6 HERN

6 cm

Question ID : 9864492794
Status : Answered
Chosen Option : 2

Q.28

Ans

R vt 7 W@ 3ugEd Rwed at |
TEcaTERYT T WA PadaE § !

Fill in the blank with the most appropriate option.

The Universal Constant of Gravitation is ;
X 1.6.67 X 10*° Nm? /kg?
X 2.6.76 X 107%° Nm? /kg?
v 3 6.67 X 107! Nm? /kg?
< 4.9.8 Nm?/kg?

Question ID : 9864493462
Status : Not Answered
Chosen Option : ==

Q.29
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Hﬁ' == & grey @rer ICEIES HI AL Status : Answered

Chosen Option : 4

@A TP
[ )
A B C D
Fill in the missing space with the correct figure.

|

@® z
A C
Ans X' B
2D
Xs.C
A
Q.30 s Tregufa (WREd 2018 ¥) TH ATy FRE FE UST § AW
Ram Nath Kovind, the Indian President as of February 2018, hails from which state?

.3 [»] ]
L@

Question ID : 9864492387
Status : Answered

A
ns {1 3cdd l;l?ar Chosen Option : 2

Uttar Pradesh
TATATA

: Rajasthan
i)

" Punjab
AT

xa®
Gujarat

X3

Q.31 3% REerer gerelay # AT AT TAU ATUFE =T T Tgon Afger
AT Tgeh ofta i & FaEY ' T andT 7

Who is the first female and the first ever Asian to become the Chief Human Resources
Officer of the Global Giant Unilever? She is incidentally an Indian. Chosen Option : 1

Ans hd

AT
< g
Indra Nooyi
W 2 ST AT
Leena Nair

X< s AT AT

Padmasree Warrior
, 3o ECEl

Alka Banerjee

Question ID : 9864492254
Status : Answered

x

Q32p, s H A F 3HEAR [TH T E | P B FTF S F Fewr e §2

P is §°s mother’s only son’s wife. How is P related to 5?

Question ID : 9864494359
Status : Not Answered
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Ans x1,m l

Chosen Option : --

Mother-in-law
o, TG s [T St S
Sister-in-law
CRE
Sister
<

Daughter-in-law

~< 3.

&5 4

Q.33 NTP I IE X 3 10 IMH T AT 5.6 e T X T 0TRSO 74T 372
The volume of 10 g of gas X is 5.6 litre at NTP. What is the molecular weight of X?

Ans of 1. 40

Question ID : 9864493127
Status : Not Answered
Chosen Option : --

X 2.50
<320
X 4. 60

O D@ & @ #i9 & g'r 9 & Ry &2
Which of the following numbers is divisible by 9?
Ans X 1. 45654

Question ID : 9864492804
Status : Answered
Chosen Option : 3

X 2. 45678
W 312321
< 412345

Q.35 o # W FiT W 37 3@ FATIeT J9 a7 W & ¥ Wittt war
&

o, &, T

Question ID : 9864493660
Status : Answered
Chosen Option : 4

‘Which of the following Venn diagrams correctly represents the following classes:

Lion, Tiger, Animals
Ans

F S0

52

&~ 3.

el

o

Q.36 T YFN THEEH WA T FEOd §, TH TR AT ¥ wafta &

‘Alone’ is related to “Unaccompanied’ in the same way as ‘Amount’ is related to

Question ID : 9864494064
Status : Answered
Chosen Option : 2

. Secluded
o 2.

|

Q.37 l
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o # @ sl @ di= st e @ w9t ¥ sedew g 22
Which of the following reproduce both, sexually as well as asexually?

<
1.
Fungi

, Terer (Algae)
. Algae
THET
" Amoeba
| & (Hydra)
Hydra

Ans

x

X3

v

Status
Chosen Option

:Answered
1

Q.38 7@ faafam &1 a1 Fa¢ fSFHr 3 & FROT FAfoF G Tg T §7

Narne the vitamin whose deficiency causes excessive bleeding?

Ans x fFaf@s B
1.

Vitamin B
XZ_ﬁaﬁH C
Vitamin C
Temaa A
Vitamin A
AT K
Vitamin K

X< s

W 4

Question ID
Status
Chosen Option

19864493436
:Answered
4

Q.39 Ffy fardlr aEce S9UT 9T HTYTa & HIUT 30° @ df SHIaceT & I0T & Al
T g Y

If the angle of incidence formed on a concave mirror at a point is 30° then the angle of
reflection will be:

ans X 1.90°
X 2 60°
X 2.15°
4 30°

Question ID
Status
Chosen Option

19864493485
:Answered
14

Q.40 =fe & *1& of@er H 3o HH & forgr FC A g¢ S ¥ 104 9g & & 5at
g FAT gem?

R+JM2$#QR?=0@7F3

If the given series is written in the reverse order, then what will be the 5th term to the left
of the 10th term from right end?

RHIM2$#QRY*O@TF3
Ans 1 F
X27
X320
X4+

Status
Chosen Option

Question ID : 9864494072
:Answered

:3

41 0.0 1 T FrmS W

Square root of 0.9 is equal to
Ans X 1.0.3
W' 2. 0.9487
X 3.0.9463
X 4.0.03

Question ID
Status
Chosen Option

19864492580
:Answered
12

Q.42 wradr 2018 ¥ R & sdve & R tvfiew o Ao #ia §2
As of February 2018, who owns the Delhi-based IPL team ‘Delhi Daredevils’?

Ans SALTH.HT. THE
W 1. 2
GME. Group

file:///C:/Users/ CHANDAN/Downloads/Qp.html

Status

Chosen Option :

Question ID : 9864492169

:Answered

1
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X2 AMETT T
Shah Rukh Khan
3. R wEaT
Virender Sehwag
Rrear 9
) Shilpa Shetty

x

x

Q.43

Ans

e a7 = fAwedt (Answer figures) & & &1 & 18 W 3MpTa (Problem
figure) T SToT F @t aTem WAT SRR T

Question ID : 9864493732
Status : Answered
Chosen Option : 4

Problem Figure

Q.44

Ans

TR T B2 3 A, HITEHHT 3R Tgeh H A, B3R CEamEAT ST 3T A 1B

=9:8%, @B CHFATEREM

If A, B and C are denoting Mean, Median and Mode of adata and A : B=9; S,tl_’lenf:he
ratio of B : C is:

Question ID : 9864492597
Status : Not Answered
Chosen Option : ==

X1.8:90
v24:3
K35:4
X47:6

Q.45

Question ID : 9864493876
Status : Answered
Chosen Option : 4
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g =1¢ vE IER & 9 AE & oy ey @ whafafie sar 31 e afEr

#r IHEET T33,650 § A 9ER ZaRT #AReA 3R e W UE JEe 7
e T @ 7

Expenditure of Family

HFood W Howe Rers wEr . witegea

Expenditure of family - 9riaTie @

Provident Fund - siissy afer

Food- @ erey

House Rent - ¥R &7 Br Entertainment - HaR
Child Education - ==t fir Ta$

Medical - gamgar

The chart represents the domestic expenditure of a family per month. If the family income
is ¥ 33,650 then the total money spent by the family on entertainment and food together
per month is:

Expenditure of Family

BFood B HouseRent & Entermainment & Chid Ecucation B Medical mProwgent Fund

Ans X 1.¥11,442
X2311,414
X3311,144
v 4. T 11,441

Q46 zfr LA +, M AT — N A « ST P AW +, ST 8NOLGOP3M13 =2

Question ID : 9864494349
If L stands for +, M stands for —, N stands for x and P stands for +, then 8N 9L 60 P 3 M

13=2 Status : Not Answered
Ans "1 0 Chosen Option : --

V279

X 3 89

& 4103

47 e - ;
a arg &l fereie FGch S REICINC TG Question ID : 9864493183

Status : Answered

The absolute refractive index of air 182
Ans X' 1.1.03
& 2.1.003
v 3.1.0003
& 4.1.00003

Chosen Option : 1

Q48 &ry fow arw Aol & OOf F F Re @@ feeT w1 w Question ID : 9864494099

EHI, FJK, GLM, HNO, Status : Answered
Chosen Option : 1

Select the correct option to complete the following letter series.

EHL FJK, GLM,HNO,

Ans X1 IMN
v 2 IPQ
X 3 IRS
X 4 1QP
Q.49 ve =afFa 40 freisier wia o2 & g @ M Feret Hbg 1 fBee gger

e S ¥, s 96 Foher SR B & A @ e - Question ID : 9864492670

e T & TEue ¥ W ¥ T A F 77 e g (Reeieder ) & Status : Answered
s Chosen Option : 3

A person driving at the speed of 40 km/hr reaches office 1 minute early while he reaches 3
minutes late if driving at 36 km/hr. What is the distance (in km) that she is covering?

file:///C:/Users/ CHANDAN/Downloads/Qp.html 12/20
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Ans X1 28

5232

W 3 24
5430

Q.50 Rw v Ferdedl H T AT H Fdol HT Tg a9 F T B T Ty aedear
# ¥ FfTa & @ Fee 51w

Question ID : 9864493992
Status : Answered

JFET: Chosen Option : 3

el OF o §1 B o T BT WEAT a4 g

ey

1. @ ¥ we d
2 o ¥ TET A &

Consider the given statements true and decide which of the given conclusions can
definitely be drawn from the given statements.

Statements:
All apples are red. No red fruits are cheap.

Conclusions:

1. All apples are cheap.
2. Red apples are not cheap.

Ane 5, 1 3R 2 2= HFET F 2
Both 1 and 2 follow.

) T Ty 1 3TEIOT & B

| Only conclusion 1 follows.

| AT s 2 JegERor & gl

| Only conclusion 2 follows.

1 3R 2 A srgetor w w

Neither 1 nor 2 follows.

x

v

x

Q.51 forelr g & 1506 widr &1 fvwrrg & forel st o @ 51 909 =ier & A
Y uIg < AT A g7

15% of an alloy was silver. If in a quantity of alloy there was 51 g of silver, what was the i
quantity of the other elements in the alloy? Chosen Option : 2

Ans 340 TAMH
F S0
340 g
289 9AMH
W 2
280 ¢
300 <A
X< 3
300 g
204 ATH

4.
X 204 g

Question ID : 9864492666
Status : Answered

Q.52 =fefas § ¥ w9 o ey fr 71v B ¥ o odur 9fafew @ e &2 )
Question ID : 9864494038

WESTE RN Status : Answered

Chosen Option : 1

‘Which of the options depicts the correct mirror image of the following figure.

WESTERN

™ v UA3T23W
x> WESTERN
> NHILSIM
<+ ME2LEBW

Q.53 w T F 10 WX Hr Brebe TAE T F Food oF F TET A T @
s & | 3fy oW & awg B gy so ddex & wiafdy feet gl w0

An object is placed on the principal axis of a convex lens of focal length 10 cm. If the .
distance of the object from the lens is 30 cm, what is the distance of the image formed? Chosen Option : 4

Question ID : 9864493244
Status : Answered

Ans
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K1_20ﬁ€ﬂﬂa¢
20 cm
xz.mﬂ'amﬁa
10 cm
3 30 BT

30 cm
15 HEHeT

15 cm

Q.54 PrrofafEa & O &l g1 350 FT FT ga J8 &7 Question ID : 9864493566

‘Which of the following is NOT a renewable source of energy? Status : Answered

Ans 3G(l. Chosen Option : 3
x 1- m{

Solar energy

, T FT
Wind energy

| e & F=
Energy from fossils

AT F=AT
4.
Geothermal energy

W 4.

x

v

x

Q.55 ofy gARoT 4x + 3y + 5 = 0 R 6x-ky-7T =0 FFT gFm AT Ak
1 7o fohaer gem

If the equations 4x + 3y + 5 = Oand 6x - ky - 7 = 0 have no solution, then the X
value of k is: Chosen Option : ==

Ans of .- 45
X2_8
<38
X445

Question ID : 9864492916
Status : Not Answered

Q.56 R A wd C & HYR T, 30 e o1 @9 &, 50 79 B # g Reg

) & = % Question ID : 9864494158

Status : Answered
Chosen Option : 1
AN N s
4 6 5
A B c

Based on figures A and C, select the option that can replace the question mark (?) in figure
B.

5193m & no \*
3 s
A B

Ans  of 1. 41
X237
X< s

L5219, 019.00 3 Rese O]

HBEIEIES
<lxlxlxlx

X4 47

Q.57 & geait &1 e 3.5 B, 4.5 HErreT it aoras gt & oy gt 10 déeT &,
T TTEY AT TGN i FETS I e

Find the length of a transverse common tangent of the two circles whose radii are 3.5cm, X
4.5cm and the distance between their centres is 10cm. Chosen Option : --

Question ID : 9864492598
Status : Not Answered

%2 6.4 TETHET

6.4 cm
(s_ﬁ'ﬁﬂm

6 cm
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x4 3.6 HETHRT

3.6 cm
Q.58 FET F Teh HIFT Flﬁ' %1 Question 1D : 9864493491
is not an allotrope of carbon. Status : Answered
— Chosen Option : 3
Ans m mﬂ.
X1 2
Buckminsterfullerene
> 2 anr
Diamond
v &3 ‘ i
Carbon Dioxide
> 4 :
Graphite
O T 7T F, Question ID ;9864492719
24+(19-9+3x9) =7 Status : Answered
Chosen Option : 3
Solve the following:

24 +(19—-9+3x9) =
Ans x1_3

X286

Ws-3

X4-4

Q.60 7T & fF et Rl F & v F TEAIC UF WA Yo T SO Her

% 37 2 a7 T S R B # R e e R (7) # g Question ID : 9864494233
3 Status : Not Answered

Chosen Option : --

9 15
10 10
A B

Assuming that the numbers in each of the following figures follow a similar pattern, select
the option that can replace the question mark (?) in figure B.

9 15

48 98

A B
Ans 1 117
X 2100
v 78
<463

Q.61 = 717 fomedt & ¥ HalT g F T T

Question ID : 9864493869

afy FROG : 9268, RANG : 2538, & FORT #i5 & &7 & weer R Status : Answered
T & Chosen Option : 2

Select the related word from the given alternatives:

IfFROG : 9268, RANG : 2538, then FORT is coded as

Ans X 1. 9762
v 2 9627
< 3.9672
~ 49327

Q.62 us eUfar 5 % WIROT ST WX 3% A% & 3T H Her £2,790 g Smar
2 Question ID : 9864492927

&) fodrer &y =g Ty R o Status : Answered
At 5% simple interest per annum a certain sum yields a total amount of T 2,790 at the end

Chosen Option : 1

of 3% years. The sum invested was:

Ans  of 1 T2,400
2~ 232,600
file:///C:/Users/ CHANDAN/Downloads/Qp.html 15/20
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The LCM of 56, 84 and 112 is;
Ans X 1.168
< 2420
V'3 336
<4210

Q8 55 84 3T 112 &1 &.4. Faar &2

Question ID : 9864492922
Status : Answered
Chosen Option : 3

W4 S| THE T AR FT &
The SI unit of weight is a:
Ans g‘ls;r

Question ID : 9864493499
Status : Answered
Chosen Option : 2

Q.65 fre T F TaAW 39gFT faweq oY |

g |

Fill in the blank with the most appropriate option.

If the genctype of a plant is ttRr, the phenotype would be

Ans +
x1_aaT3ﬂT$:ffEIT

Tall and Wrinkled
vz atar 3T e
Dwarf and Round

Dwarf and Wrinkled
X4 e 3T aier
Tall and Round

afE v i T g (Genotype) tRr #, O FHeETU (Phenotype)

Question ID : 9864493478
Status : Not Answered
Chosen Option : ==

Q.66
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Question ID : 9864493861
Status : Not Answered
Chosen Option : --
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rw a¥ Rrow 9y & goe & Sawer § vied 3 maw afE 32

Population

= population

195119611671198119912001

Population - FaEEAT

The percentage increase in the population is highest as compared to that of the previous
year in the year:

Population

® population

10 1 =

195119611671158119912001

Ans X 1. 1971
v 21961
# 31981
X 42001
Q.67 g1 aig™ faselt Wrelr & w1 37ehol A 256 AT 40 ©el H ww & § Sl v

Fﬂﬂnmﬁ‘géﬁ:ﬁméﬁﬁuﬁﬁmmmm&ﬁq\ﬁm#w

2r 3R Ft aEEt B v wry Ten e I A 3 fRae mET A s Status :Not Answered
. Chosen Option : ==

Question ID : 9864492831

Two pipes fill a tank when working individually in 25 and 40 hours, respectively while a
third pipe can drain the filled tank in 16 hours. If all the three pipes are turned on at the
same time when the tank is empty. how long will it take to fill the tank completely?

Ans 16 &=t 1651
W 1.
16 days 16 hours
, 15 18T
15 days 18 hours

fea7ee
1 day 7 hours

, 2fesaee
2 days 1 hour

<
<

x

Q.68 form &\ &7 S=alr 2018 & 9gel S I0IEN T Shae sfagry = faare

Question ID : 9864492400
Which team created history by winning the Ranji Trophy for the first time in Janvary
20187 Status : Answered

Ans m Chosen Option : 2

>
Kerala

W 2. RN

Vidarba

IS

Odisha

X qieed Semme
West Bengal

< 3

Q.69 Fafafen waa Auens § § e ga8 59 = &1 7 Ry aw & e ]
ECil o Question ID : 9864492124

The tallest peak of which of the following mountain ranges is a mountain called ‘Guru Status : Not Answered
Shikhar*? Chosen Option : ==

Ans . fewr i g@en
- Vindhya Range

file:///C:/Users/ CHANDAN/Downloads/Qp.html 17/20
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afReaT ure ead g
2.
‘Western Ghats Range
| e LG TcE
Aravalli Range
4. <3 i

Satpura Range

x

v

x

Q.70

Ans

T 7w Tom w REm =t 3k 9w F T SeRRT st # @ sam e
9 FT Fec¥ e F oI g #

UV, W X3k Y o o 87 & 31599 5 £, B & a9 7 a9 87

EEGEUH

1.D, AT F &&= a1 1
2.C, B 3k F & o dar 31

Consider the given question and decide which of the following statements is sufficient to
answer the question.

U, V, W, X and Y are sitting at a round table; who is sitting next to B?

Statements:

1. D is sitting between A and F.
2. Cis sitting between B and F.

<
T 1T 9T F 3ecl & & AT 1 e 9T @, 6t 2 3Hhem wded FE
gl
1 alone is sufficient while 2 alone is not sufficient to answer the given question.
5 2
T 1T 9T F 3ece & & AT 2 e AT @, a9t 1 3Hhem wHed FE
gl
2 alone is sufficient while 1 alone is not sufficient to answer the given question.
5 3.
feT a0 wo 1 FeR & & W AT A 1 &7 & 2 T &

Neither 1 or 2 is sufficient to answer the given question.

W 4.
faw 1T W & 3ea¥ & & faw 1 3k 2 gt waeg &

Both 1 and 2 are sufficient to answer the given question.

Question ID : 9864494002
Status : Not Answered
Chosen Option : --

Q.71

Ans

FURITH TR AT & AT FiA § FoAn 6w FOwieed FEEH [EER
e am

‘Which Kannada writer received the Sahifya Academy Award for his novel ‘Swatantryada
Ota’?

x 1 Brirer e
Girish Karnad
> 2 m
Vaidehi
o T T TFEEEA
C.N. Ramachandran
. st AT Fee!

Bolwar Mahammad Kunhi

v

Question ID : 9864492262
Status : Not Answered
Chosen Option : --

Q.72
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Question ID : 9864494270
Status : Not Answered
Chosen Option : --
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Rt grger W AR sl o R F & i Aot d @ Fa @
afea & @1

JFAT:
T g F 3 AW A A 7 F - v R

AT

1. JETE W= A8 g
2. 9T =g & T et 4ET 5g =)

Consider the given statement and decide which of the given assumptions is (are) implicit.

Statement:

“Triple your money in one year’ — an advertisement.

Assumptions:

1. The assurance is not genuine.
II. People want their money multiplied.

o, 12 A Bfea E

Both assumptions T and IT are implicit.

, el Aegar 1 fAfed g
Only assumption I is implicit.

3.13ﬂ?2aﬁﬁﬁaaﬁ%‘i

Neither assumption I nor IT is implicit.
, e Fegar 2 fAfed g

Only assumption II is implicit.

x

x

v

Q.73

Ans

7% W A AR w3 v w1 & s A R sl ar
FeAa At g

T

Question ID : 9864493719
Status : Not Answered
Chosen Option : --

T o Teafacamer & Fam 12 & 7ftg & weTwy & w7 §)
He ALt

1. o 9ga # gaen # A0 # At 3w A wed

2. g oET # AU & add AT @ B FH e F o G g

Consider the argument and decide which of the given assumptions is/are implicit.

Argument:
A top university has reduced the syllabus of Mathematics in Class 12.

Assumptions:

1. Students can score more marks than before in Mathematics.
2. This has been done to reduce the stress and burden of the students in Mathematics.

Faer sgAe AT @
Only assumption 1 is implicit
o HejAer 2 g &

2.

Only assumption 2 is implicit

3_Err-fr13ﬂTEr€rzﬁ'f1%Fr%

Neither 1 and 2 is implicit

4_13#112&1?1’?1?4‘%3%

Both 1 and 2 are implicit

X<

v

x

x

Q.74

Ans

AT Far fohas =T §
Kinetic energy is equal to:

Question ID : 9864493182
Status : Answered
Chosen Option : 4

X 1. my
& 2.mgh
X 3 Ma

\f4. E'ml,?2

Q.75
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I g wrae FreT B S A ol § A GHH TR | L T FR e X e Status : Answered
e &, 9 g s g

If we take a small amount of washing soda and add approximately 1 mL of dilute
hydrochloric acid to it, what will we observe?

Ans xq
el 3ETHATHRTUT TR 21T &, 1S S wEr e

Only neutralisation reaction occurs, no gas is released.
- ETET T H TGS T AT |
White-coloured precipitate is formed.
- €O, 37 &= JegamEe & wry Mwad |
CO, gas comes out with brisk effervescence.
- arg v eafar F ot H, w Awadr g

H, gas comes out with pop sound.

Chosen Option : 2
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